Multiply and Divide by 0,1 (H)

Find each product or quotient.

7,926 X 0,1 = 29:01=
8,4919 x 0,1 = 4,0967:0,1 =
2:01= 6,5 % 0,1 =
9,11:0,1 = 1,01 x 0,1 =
582x%x0,1= 2,3854 % 0,1 =
6,12:0,1 = 6,8295:0,1 =
8,436 X 0,1 = 49x0,1=
391:0,1= 8,4:01=
4,433:0,1 = 6,1568:0,1 =
2,167 X 0,1 = 9,28:0,1 =
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Multiply and Divide by 0,1 (H) Answers

Find each product or quotient.

7,926 X 0,1 =0,7926 2,9:0,1=29

8,4919 x 0,1 = 0,84919 4,0967 : 0,1 = 40,967
2:01=20 6,5 % 0,1 =0,65
9,11:0,1=91,1 1,01 x0,1=0,101
582x%x0,1=0,582 2,3854 x 0,1 =0,23854
6,12:0,1 =61,2 6,8295:0,1 = 68,295
8,436 X 0,1 = 0,8436 49 x0,1=0,49
3,91:0,1=39,1 8,4:0,1=84
4,433:0,1 = 44,33 6,1568:0,1 = 61,568
2,167 X 0,1 =0,2167 9,28:0,1 =92,8

Math-Drills.Com




